HP-4 Wall Wash Surface Mount Drywall
Starter/Independent Installation Instructions

Scan QR code for

FINELITE

Better Lighting

Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732; D727,554 S; D727,550 S, D727,551 S

. Mounting Mounting Ground Wire / Safety Straps
helprI ‘"deo(s) Location Location
—»| (" |[€— —»| 6
Dimming
MOUNTING HOLE LOCATION TABLE
LUMINAIRE LENGTH ‘A (in)
4 36
8' 84
12' 132 #8-18 x 1/4" Screw (provided)
Use the chart above to determine the correct mounting points. Provide structural support Remove diffuser from luminaire and set aside to prevent it from getting dirty or damaged. Remove backplate as a whole unit by removing #8-18 x 1/4" screws
(blocking) at each mounting location (by others). (provided). There are two ground wire safety straps that the backplate assembly will hang from. Only remove the backplate that is adjacent to the joint.
Threaded Rod -
Location For Securing . = B
to Structure X __ = Box_ 1/4-20
Conduit ﬁ, <— 1/4-20 Threaded Rod (by others) E (by others) % ?4_ Threaded Rod
Power d - i (by others)
—>| 3/4" | Wires : E :
=
—c
T ! | J-Box
i (by others)
Jam Nut —» - 1 = = !
" Wall —» ¢y o am = = [ = :
l l o N \ Dimming (Gray) —» <—— Power Wires 1/4" Washer (by others)—<
Feed Location Ly ‘ ; i
i L v 1/4" Washer (by others) T = 1/4'-20 Nut (by others)—» i
— 4 —> — ' —> H i
1/4'-20 Nut (by others) ' v
v Dimming (Purple)

Determine new feed hole on luminaire as indicated above. Install luminaire onto drywall. Insert wires through jam nut and install jam nut onto conduit connector. NOTE: Purple

and gray wires are for Low Voltage Control.

ALTERNATE POWER FEED WITH OPTION: with J-Box.

Note: All power connections to be installed to local/national codes
by a Certified Electrician.

Finelite, Inc. < 30500 Whipple Road ¢ Union City, CA 94587-1530 < (510) 441-1100 « Fax: (510) 441-1510 * www.finelite.com 1

LH¥0 "CA €¥286 W04 "AIAYISIH SIHOIE TV "ONI ‘ILITINH L1002 @



Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732; D727,554 S; D727,550 S, D727,551 S

HP-4 Wall Wash Surface Mount Drywall
Starter/Independent Installation Instructions

1/4'-20 Threaded Rod
(by others)

@ — 1/4" Washer (by others)
2 — 1/4"-20 Nuts (by others)

Alternate Mounting Option

1/4" Screw (by others)

Better Lighting

FINELITE

Wiring Co

Install 1/4" washers (by others) and 1/4'-20 nuts (by others) onto 1/4'-20 threaded rod (by others), or use alternate mounting options (use fastener and washer compatible with structural
blocking to secure luminaire).

Harness

Backplate

#8-18 x 1/4" Screw (provided)

Connector

Step 7

<— Wall Side

Make wiring connections.

<+— Diffuser

<+— Wall Side

Diffuser

Replace backplate and secure with #8-18 x 1/4" screws (provided).

A. Slide diffuser into backplate. B. Push bottom edge of the diffuser into backplate. Turn on luminaire. NOTE: If part of a longer run, diffuser will

be reinstalled back into original luminaire section as lengths vary.

o Elastrion - e tolocaiiational codes Finelite, Inc. » 30500 Whipple Road * Union City, CA 94587-1530 « (510) 441-1100 « Fax: (510) 441-1510 * www.finelite.com

2

LH¥0 "CA €¥286 W04 "AIAYISIH SIHOIE TV "ONI ‘ILITINH L1002 @



Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732; D727,554 S; D727,550 S, D727,551 S

HP-4 Wall Wash Surface Mount Drywall
Joiner/Ender Installation Instructions

FINELITE

Better Lighting

scan QR COde fﬂr Mounting Mounting Mounting (Si;?;ndsmr")es/
. Location Location Location y
helpful video(s)
6|
< A L B >
Dimming Drywall — v_I
4| Starter \ Joiner/Ender
i
MOUNTING HOLE LOCATION TABLE
FIXTURE LENGTH ‘A (in.) B' (in.)
4 36 48
8 84 9
12' 132 144 #8-18 x 1/4" Screw (provided)
Use the chart above to determine the correct mounting points. Provide structural support (blocking) at each Remove diffuser from luminaire and set aside to prevent it from getting dirty or damaged. Remove backplate as a whole unit by removing
mounting location (by others). #8-18 x 1/4" screws (provided). There are two ground wire safety straps that the backplate assembly will hang from. Only remove the
backplate that is adjacent to the joint.
Threaded Rod -
Location For Securing i E J-Box
to Structure X - > . 1/4"-20
Conduit ﬁ" <— 1/4*-20 Threaded Rod (by others) = (by others) % 4~ Threaded Rod
—) 1
Power d - i (by others)
—>{3/4" [« Wires > 74| = I
—
=
. J-Box
4—
T | (by others)
J Nut —> = =y 1
o Wall —» , ; Cl\ Y am Nu : "l I’ :
l l o N Dimming (Gray) —» <—— Power Wires 1/4" Washer (by others)—<
Feed Location ‘ ; i
| L v 1/4" Washer (by others) T 1/4°-20 Nut (by others)—»T
- | — — (' —> H T i
1/4'-20 Nut (by others) ' v
v Dimming (Purple)

Determine new feed hole on luminaire as indicated above. Install luminaire onto drywall. Insert wires through jam nut and install jam nut onto conduit connector. NOTE: Purple ALTERNATE POWER FEED OPTION: with J-Box.

and gray wires are for Low Voltage Control.

Note: All power connections to be installed to local/national codes
by a Certified Electrician.

Finelite, Inc. < 30500 Whipple Road ¢ Union City, CA 94587-1530 < (510) 441-1100 « Fax: (510) 441-1510 * www.finelite.com 1

LH¥0 "CAbp286 WI04 "AIAYISIH SIHOIY TV "ONI ‘ILITINH 2102 @



Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732; D727,554 S; D727,550 S, D727,551 S

HP-4 Wall Wash Surface Mount Drywall

Joiner/Ender Installation Instructions

Starter

1/4'-20 Threaded Rod
(by others)

L 1/4" Washer (by others) > @
1/4"-20 Nuts (by others) —— 20l

Alternate Mounting Optlo\

FINELITE

Better Lighting

Starter

It

Wiring Connections

Install 1/4" washers (by others) and 1/4'-20 nuts (by others) onto 1/4'-20 threaded rod (by others), or use alternate mounting options (use fastener and washer compatible to structural blocking

to secure luminaire).

Joiner/Ender

#8-18 x 1/4" Screws (provided)

Backplate

Harness

Connector

Make wiring connections.

1/4"-20 Threaded Rod (by others)

o
=

CEEEEEEEE =

R EEE =

Joiner/Ender

1/4" Washer (by others) —————»

T
1/4"-20 Nuts (by others) ———— i

Remove diffuser from joiner/ender luminaire and set aside to prevent it from getting dirty or damaged. Remove backplate from joiner/ender as a whole unit by removing

#8-18 x 1/4" screws (provided).

Align starter and joiner/ender.

Note: All power connections to be installed to local/national codes
by a Certified Electrician.

Finelite, Inc. 30500 Whipple Road  Union City, CA 94587-1530  (510) 441-1100 » Fax: (510) 441-1510 « www.finelite.com 2

LH¥0 "CAbp286 WI04 "AIAYISIH SIHOIY TV "ONI ‘ILITINH 2102 @



Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732; D727,554 S; D727,550 S, D727,551 S

HP-4 Wall Wash Surface Mount Drywall FINELITE
Joiner/Ender Installation Instructions Better Lighting

Aligner Sleeve Top Channel 1/4'-20 Threaded ) )
. Alternate Mounting Option
St8p 8 Plug-Together Wiring Joiner Plate Driver Channel Step 10 Rod (by others)
/ / 1/4" Washer
Aligner Sleeve / / (by others) 1/4" Screw (by others)
Starter S N T =Ty 1/4'-20 Nut
v X by others)

I e
O\ ) W‘
Joiner/Ender ] \'\/Q»w
Starter ”o 1? Joiner/Ender Joiner/Ender \ ‘“'

Plug-Together Wiring

Po
| @
----------- > <----------- j
Connect plug-together wiring. Line up aligner sleeve with driver channel and joiner/ender plate with top channel then slide Install 1/4" washers (by others) and 1/4'-20 nuts (by others) onto 1/4'-20 threaded rod (by
joiner/ender toward starter. CAUTION: Be careful not to damage any wiring. others), or use alternate mounting option (use fastener and washer compatible to structural
blocking to secure luminaire).
Joiner/Ender
#8-18 x 1/2" Combo — ' ™~
Hex Screws (provided) Starter i =58
: Harness
! s Connector
> 1 2
s ! >
i ! D=
Backplate #8-18 x 1/4" Screw (provided) =
IMPORTANT STEP: Install two #8-18 x 1/2” combo hex screws (provided) as shown. Screws Replace backplate to starter and joiner/ender and secure with #8-18 x 1/4" screws (provided).

can be installed from the left or right. CAUTION: Do not over-tighten.

o Elastrion - e tolocaiiational codes Finelite, Inc. » 30500 Whipple Road * Union City, CA 94587-1530 * (510) 441-1100 « Fax: (510) 441-1510  www.finelite.com 3

LH¥0 "CAbp286 WI04 "AIAYISIH SIHOIY TV "ONI ‘ILITINH 2102 @




Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732; D727,554 S; D727,550 S, D727,551 S

HP-4 Wall Wash Surface Mount Drywall FINELITE
Joiner/Ender Installation Instructions Better Lighting

IMPORTANT STEP

Joiner/Ender

Starter

<— Wall Side <— Wall Side

.

Joint Cover (provided) ———=< @

<«— Diffuser Diffuser

#8-18 x 1/4" Screws (provided)

IMPORTANT STEP: Install joint cover (provided) between backplate with two #8-18 x 1/4" screws (provided). A. Slide diffuser into backplate. B. Push bottom edge of the diffuser into backpalte. Turn on luminaire. NOTE: If part of a longer run, diffuser will
be reinstalled back into original luminaire section as lengths vary.

o Elastrion - e tolocaiiational codes Finelite, Inc. » 30500 Whipple Road * Union City, CA 94587-1530 * (510) 441-1100 « Fax: (510) 441-1510  www.finelite.com 4

LH¥0 "CAbp286 WI04 "AIAYISIH SIHOIY TV "ONI ‘ILITINH 2102 @




